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1. What is an eccnomic problem ? \Yhy does it *-se ?

2. Stnl;e the Central llroblems cf an econoroy- r.t1.'do th,ry arisr-'? (AI 2006,2S0?C)
3. Why do Central prc,blcrns arise ? Explalr tEe prol;ir:rn oi aili;.:;riioa of resources.

4. Explain how economic problem is a prr:blern ar!;;ing frr-i* Lhe necessir,y of choice.
5. What, is meant by production possibility tarve '/ illustrate rvith the heip ol- a

table and diagram.
C. trtrat is meartt tr1.' production possibilitg eurve ? illrrstrate i.itc cenrral problems

of an economy witL this r:urve-

?. Draw the production possihility curve and intlicate I.irc {bilowing -*ifuatigr: on.
the diagram.

{a) Fuli empioyment of resources.
(b) Unrler tltilisation of resources.
(c) Grou.th of Re-sources.

8. Explain the reiationship between margina! opportuniiy cost and slope of PPC-

An..i.wer the followirr g questions

T=Shirts (In
()

I
2
3

1

5

__!.llPteegg (In thousandsl _
90000
8(,000
68000
52000

.34000
10000

ofPPC.
Possibilities Greenchillies Sugar

A
B
C

D
E

l.'

lo0
95

85

7A

5-0

25

o
1

2

3
4

5


